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3.1 EF RBF #EMEM I Ei=H

3.1.1 RBF & Hl

B 3.1 R 3T RBE #0046 i W i 22 45 sl S . WA W BOR A PD R R
% P R U5 I U B 2R I 4 L AR 1 R
RBE v G AR R I 2% L T PD 5 S AR

il 2 190 245 45 98 5 A R

a0} F~e®_ o5 Lz i;%!g ) BARI S B k= [hyhyssh, ] ok,

(k) u(k) Ay e 3 o 45
| x)—c; |I?
B 5.1 LT RBF M2 % 00 B b R 5 h’f':e"p(*T) .
J

Hr,i=1; j=1.2,-,m; x (k) RBF ALK A ¢, =[cy  cpysracy, s b=
[bysby st 1t
WAL [] 5
w=[w, s wy.sw, | (3.2)
RBF 1 28 X £ (1) i 1
u, (k) =hjw, ++h,w, £ +h, w, 3.3
Horr,m RS2 AL
SEHHAN w (k) =u, (B) +u, (k) RN

E(k):%[u”(/z)—u(/z)jz (3.4)
R FARR BE T R, I 28 AU(E o 2] BB
 _IE®R) B
Aw; (k)= 7]W—7][u”(k) u (k) Jh; (k)

wk)=wlk —D+Awk)+alwk —1)—wk —2) ] (3.5
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3.1.2 1BEH
e o 0 5 Ny

1000

G(s) =

s 4 87,3552 +10470s

BORE LA Lms o 138 0F Q517 8 B 7 7

y(k) =—den(2)y(k — 1) —den(3y(k —2) +
num(2)u(k — 1) +num(Duk —2)

IR 22 P28 Y 4 A8 Sy 1-4-1, SRR B R 48 2 v o () BUIRAE O 0. 5 M9 KRR 5, B 2% 4y A
Koy g (o) s WIS DGR AAE [0, 1114 Bl ML, AR B0 I 2% 1) s A9 TR o T R B S 3O ¢ =
[—2 —1 1 2]%.b;=0.5, BU¥JHFE 9=0.30, 3 HF «=0. 05,
P EZERE 3.2 M 3.3 FiR, RBE WBH& 6005 BFE T8 chap3_1. m, i WLEFF 5%

0.5/ r T
3

K Tdeal positi(;n éignal
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B 3.2 J7BIRERSUR

A R | — Control i'nput with IRBF|

Vf ‘r o
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time(s)

[ — Control input with PD]
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time(s)

~Total control i'nput|
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time(s)

B 3.3 MM 4 A PD il
By A B S il A

3.2 ETRBF #ENEMERSEBRIEMZR

3.2.1 BRIRFIRIT

Pl 3.4 g T RBF 22 M 2 YRR S 25 1 36 N il R ST AE A

WHIAEHIREIE SN v, () U E UIREEIR2ZE R
e(k):ym(k)iy(k) (3.6)

W 45 AUE 2 2] IR 2 F8 AR N
E(/z):%e(k)z (3.7)

T il 4 AR RBF #0289 4% ) 4 11
wk) =hyw; + = +hw, + = +h,w,
(3.8)

yao |+ ~ k)

Yulk)

RBF

ES

3.4 HF RBF &M% WA S %
ERIECE EX
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Forbom REE RN ARG w; I RBIRUE s b s I eR O i
ERBF¥$£‘7EI_J2%EP9-¥_[11912’ °* 91,,] jﬂnéﬁﬁ/\, _[hlah27°"7h,n]T’hj j":’%

Hr R
j (xﬂ”2) (3.9)
. — eX - .
’ Y 2b°
Hri=1,2,m;5 =12, umo b;>0.¢; = [c;15s¢;; 505, ] b= [by by sesb, 17
WRUE 7] 5 R
w=[w, wy.sw, | (3.10)
S5 o0 5 N o R L e R o = B Ry
. IEGR) dy (k)
Aw; (k) = G M) S
w; (k) =w; (k—1)+Aw-(/€)+aij(/e) (3.11)
Horr,y 2] Wi, jvﬁJ;l? 7€ [0.1].a€ [0.1],
EECIRES
__ _IJE&) dy (k) Ju (k)
Db (k) (T =ne k) 30 %,
- ay(k) HX*CI-]- HZ
A,Ue((k)au(k)uﬁhj4———13———— (3.12)
b, (k) =b,(k—1)+90b; (k) +alb, (k—1)—b, (k—2)] (3.13)
 IEG) dy (k) du (k)
Afjj (k)_ 77 (’)Cij _776( (’]u(k) (76‘,-,'
- dy (k) XT; Ty
= e (k) 3w, ) (3.14)
ci; (k) =c; (b —1) +9Ac,; (k) +alc; (k —1) —c; (k —2)] (3.1
Dy (k . . Dy (k)
s 520 Jacobian [ 7 St AF B A B LA L e TSk O
- » \ A(M
AR 1122 53 SR Atk SRS 56 43 S L 0 U R A L O 6k (U

f7y(/€)
du (

XA A B 3 T g

3.2.2 1phEA

R B s X 2 o
yR)=[—0.10yk —D+ute —DJ/[1+yGk—1"]

Ho CREEFAH ¢ =1ms, ZHHA N v, (k) =0.6y, (k—1)+ty, k), BAEREIES N
v4(B)=0.50sin(2nk Xt ),

WRWW%H%M%AﬁyﬂMe(MNy@%%j KN p=0. 35,3 KT
Ha=0.05,

-3 —2 —1 1 2 317

RGN AL MR S EE N e=|—3 —2 —1 1 2 3| ,b=[2.2,
-3 —2 —1 1 2 3
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2,2,2,2]" KB EA R IR0, 1R BEDLIE .
ELEFIE 3.5 MK 3.6 B, 3T RBF #0284 (158 5 % [ 1 v 55 R E
chap3_2. m,
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LA N e Tracking position signall|
5
0.5 £
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g ¢ E
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time(s) time(s)
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3.3 RBF #HEZMZEKRIEREF

3.3.1 R&G&HER

ESE TP ¥
ye+1D=f[y0k)]+buk) (3.16)
Horb,w By 4390 R E AR o S ERSEER,
FE O Co )T, T AR A i R A AN SN L 3R A R A
— £ (e kE+1
w (k)= A >+by”‘( +b (3.1

KGR GO 1D, RERH T vy k) RIS TR IR A vy (k).

3.3.2 RBF ##HIEXRIT

A Co )RR AT 3 5 7R AR G 22 R 28 B IR AR AR B £ C e DRI BRI N C+ ) LU
R IE 4 i 3k

CNg() Fy e+ 1)
wh)y=—2 by‘ (3.18)
KA RBF M2 WM 45 0] SZE R FN R 50 £C » DR FEIH . 7F RBEF 22 W 2% 45 4 v, B W)
KA A v (k) oh PVEEES T A A 25 A T R A

|y —c, | }

h, =exp |— (3.19)
’ { 2b°

Hi=1,=1om.b; AW WIEESE0, >0, HMEE T DAL j DA
(R R s AR BR A

Mg%ﬂgjtylﬁjiyg W= I:wl s Wy 9"'awm:|TaRBF ?qiéélméﬁﬁgﬁﬂjj‘j

N (k)= D hw, (3.20)

i=1
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Horp,m S RBF P2 B2 i 22 0 19 40,
HERJE X g s oy
v, EF)=Neg [yt —1)]+buk —1) (3.2D)
Pt 225 00 4% R 19 M BE R A5 ol

1 2
E(k):?[y(/e)*yn(/e)]“ (3.22)
SR P B2 T o 1 T o 9 4% B4 AL AR -
 _IEG) B
Aw; (k)= vau“(k)-—n[y(k) v (kD Th k)
228 I 245 AU P 9 B e
Wk)=Wk —D+AMWk)+a Wk —1) =Wk —2)] (3.23)

Hr, g R BR o HEEE T,
(3. 16) M=t (3. 21) 4%
yk)—y, F)=f[yk—1]—Ne[yk—1)]
A B R R, TS ool L E (B) >0,No [y (k=D —>f [y Ge—1)7], N5
KENREL £ OB,

3.3.3 1pEA

O E )
y (k) =0.8sin[y(k — 1]+ 15u(k — 1)
Hp, f[y(k)]=0.8sin[y(k—1)],
BAMGS RIEZGES v (k) =sin0. 1), By (k) VE R M4 (46 A 45 o 2 4 4
TEA B m =5, M5 E589 1-5-1, 4% (0] b AU 4B 1. 0.6, =5. 0,
KA HI A (3.18) S AUE 2= 2] 280 =0. 10,2 =0. 05, RBF #1 £ M4 4 K IE
FEHIFEF A chap3_3. m, fFELERUE 3. 7~& 3.9 iR, (5 EFEF A chap3_3. m,EIL
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2 &~ w
- o

y and yn
(=}

=9 20 40 60 80 100

Time

K38 H y KHAES y,

fand fn
(3]

0 20 40 60 80 100
Time

B3.9 [ (o) RHEBRZEES (oo

i TAERERF

L2 THER
RBF M Ei=H{FETERF: chap3_1.m

% RBF Supervisory Control
clear all;
close all;

ts=0.001;

sys = tf(1000,[1,50,2000]);
dsys = c2d(sys, ts, 'z");

[num, den] = tfdata(dsys, 'v');

y1=0;y 2=0;
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ul=0,u2=0;

e 1=0;
x1=0;
x=1[0,0]";

b=0.5* ones(4,1);

c=[-2-112];
w=rands(4,1);

w 1l=w;

w 2=wl;

xite =10.30;
alfa=0.05;

kp =25,

kd=10.3;

for k=1:1:1000
time(k) =k * ts;

S=1;
if S==

yd(k) = 0.5 * sign(sin(2 * 2 * pi * k x ts)); % Square Signal
elseif S==

yd(k) =0.5* (sin(3* 2 * pi*k* ts)); % Sine Signal
end

y(k) = —den(2) *y 1 —den(3) *y 2+num(2) *u 1+ num(3) *u 2;
e(k) = yd(k) - y(k);

xi = yd(k);
for j=1:1:4

h(J) = exp( —norm(xi—c(:,3))"2/(2*Db(3) *b(3)));
end

un(k) =w'* h';

% PD Controller
up(k) =kp* x(1) + kd * x(2);

M=2;
if M==1 % Only Using PID Control
u(k) = up(k);
elseif M== % Total control output
u(k) =up(k) +un(k);
end

u(k) = 10;
end
if u(k) <= - 10
u(k) = —10;
end

% Update NN Weight
d w= —xite* (un(k) —u(k)) * h';
w=w_l+dwtalfax (w 1-w_2);
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u 1l=u(k);

vy2=y.1;

v 1=y(k);

x(1) = e(k); % Calculating P
x(2) = (e(k) —e_1)/ts; % CalculatingD
e 1=e(k);

end

figure(1);

plot(time, yd, 'r', tine, v, 'k: ', 'linewidth', 2);
xlabel( 'time(s)');ylabel('Position tracking');
legend( 'Ideal position signal', 'Tracking position signal');

figure(2);

subplot(311);

plot(time,un, 'k', 'linewidth',2);
xlabel('time(s)');ylabel('un');
legend( 'Control input with RBF');
subplot(312);

plot(time,up, 'k', 'linewidth',2);
xlabel( 'time(s)'); ylabel('up');
legend( 'Control input with PD');
subplot(313);

plot(time,u, 'k', 'linewidth', 2);
xlabel( 'time(s)');ylabel('u');
legend( 'Total control input');

3.2.2 THIRER
EF RBFHEZMEMHER S ZHENES . chap3_ 2. m

% Model Reference Adaptive RBF Control
clear all;
close all;

x

c=[-3-2-10123;
-3 -2-10123;
-3 -2-10123];

b=2;

w=rands(1,7);

xite =0.35;
alfa=0.05;
h={[0,0,0,0,0,0,0]";

cl=c;c 2=c;
b 1l=Db;b2=D,
w l=w,w 2=w,
ts=0.001;

for k=1:1:3000
time(k) =k * ts;

yd(k) =0.50 % sin(2 % pi * k * ts);
ym(k) =0.6 % ym_1+ yd(k);
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y(k)=(-0.1%y 1+u 1)/(1+y 1"2); % Nonlinear plant

for j=1:1:7

h(j) = exp( —norm(x—c(:,3))"2/(2%1"2));
end
u(k) =w=x h;

ec(k) = ym(k) - y(k);
dyu(k) = sign((y(k) —y_1)/(u(k) —u_1));
dw=0%*w;
for j=1:1:7
d w(j) =xite * ec(k) * h(J) * dyu(k);
end
w=w l+d wtalfax (w 1-w 2);
% Return of parameters

u_ l=u(k);
vy 1=y(k);
ym_1=ym(k);
x(1) = yd(k);
x(2) = ec(k);
x(3) = y(k);

w2=wl;,wl=w;

end

figure(l);

plot(time,ym, 'r', tine,y, 'k: ', 'linewidth', 2);
xlabel('time(s)');ylabel('ym,y');

legend( 'Ideal position signal', 'Tracking position signal');
figure(2);

plot(time,u, 'r', 'linewidth’',2);
xlabel('time(s)"');ylabel('Control input');

3.3.3 THER
RBF #Z M & H &K EHEH: chap3 3. m

clear all;
close all;
xite=0.10;
alfa=0.05;

w=ones(5,1);
cij=[-2 -1012];
bj=15;
h=zeros(5,1);

wil=w,w2=wl;

ul=0;,y 1=0;

ts=0.02;

for k=1:1:5000

time(k) =k * ts;

yd(k) = sin(0.1 * pi * k * ts);

% Practical Plant;
f(k) =0.8 % sin(y_1);
b=15;
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y(k) =f(k) +bxu 1;

for j=1:1:5
h(j) = exp( — norm(y(k) —cij(:,3))"2/(2 % bj"2));
end

fn(k) =w'* h;
yn(k) = fn(k) +b*xu 1;

e(k) = y(k) — yn(k);

dw=0%*w;
for j=1:1:5
d_w(j) =xitex e(k) * h(j);
end
w=w l+d wtalfax (w 1l-w 2);

u(k) = ( — fn(k) + yd(k))/b;

u l=u(k);
vy 1=y(k);

w 2=w1l;

w 1l=w,;

end

figure(1);

plot(time,yd, 'r', time,y, ' — .k', 'linewidth',2);
xlabel( 'Time'); ylabel('y and yd');

figure(2);

plot(time, vy, 'r', time, yn, ' — .k', 'linewidth', 2);
xlabel('Time');ylabel('y and yn');

figure(3);

plot(time, f, 'r', time, fn, ' — . k', 'linewidth',2);
xlabel( 'Time'); ylabel('f and fn');
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